
metin

length spatia of andom"mape of Large g
A Teichmitter theory approach

5Mascille 1 .10
-

E -C
~s

, joinb work with !S (2 I-
-An ex- -M)- i
-

- L

e l Simon A lessandsoi↳ --

C
11 Il

En m
- "mge

Barazer Giacchetto in
M
M



Wa map?



Wa map?

A
map

is a graph & embedded into a surfaceS
such that SI6 is a disjoint union of diske



Wa map?

A
map

is a graph & embedded into a surfaceS
such that SI6 is a disjoint union of diske

called faces



Fa

D



Examples
--

& ①

⑳ ⑲



Example

& ①

⑧
g = 0 , n = 3 g = 1 , n = 1



Example

& D
f

⑲⑳ O noffaces
LMe ûÓï⑳et I-48

g = 0 , n = 3 g = 1 , n = 1



Examples metric 2 ?--

&
may

①

⑲⑳ O noffaces
ûÓïMe L⑳et- I

48

g = 0 , n = 3 g = 1 , n = 1



Examples 2 metric 2 ? 13--

&
I

may

D
Es

⑰⑳ OI noffaces
ûÓïMe L⑳et I-48

g = 0 , n = 3 g = 1 , n = 1



What do we care?



What do we care? Fixe OFA<b



What do we care? Fixe OFA<b

Na
,

b) (8) :=

number of primitive Cycles in 6
with--length in [a, b)



What do we care? Fixe 0 = a<b

Na
,

b) (8) :=

number of primitive Cycles in 6
with--length in [a, b)

Ng, La,2) : Mann(2.....2) -> >, 0



What do we care? Fixe 0 = a<b

Na
,

b) (8) :=

number of primitive Cycles in 6
with--length in [a, b)

comb

Ng, La,2) : Mg ,

n(2
, ...,2) - >, 0

ii

S metric maps of genusg with n faus 3
of length 1,,..., In .

Valence 3



What do we care? Fixe 0 = a<b

Na
,

b) (8) :=

number of primitive Cycles in 6
with--length in [a, b)

combr

,....,2) -> Is,Ng, La,b) : Mg ,
n O

Theorem I 2, + ... + In ~129 as g-is



What do we care? Fixe 0 = a<b

Na
,

b) (8) :=

number of primitive Cycles in 6
with--length in [a, b)

Ng, La,b) : Mombal...... La) -> Es, O
Theorem I 2, + ... + In ~129 as g-is

Ng , ca,635 Poisson



What do we care? Fixe 0 = a<b

Na
,

b) (8) :=

number of primitive Cycles in 6
with length in (a, b]

Ng, La,b) : Moua(2......2) -> >, 0

Theorem I 2, + ... + In ~129 as g-is

Ng , 19, 23 Poisson (Ie-du)



What do we care? Fixe 0 = a<b

Na
,

b) (8) :=

number of primitive Cycles in 6
with length in (a, b]

Ng, La,b) : Moua(2......2) -> >, 0

Theorem I 2, + ... + In ~129 as g-is

Ng , 19, 23 Poisson (Ie-du)



What do we care? Fixe 0 = a<b

Na
,

b) (8) :=

number of primitive Cycles in 6
with length in (a, b]

Ng, La,b) : Moua(2......2) -> >, 0

Theorem I 2, + ... + In ~129 as g-is

Ng , 19, 23 Poisson (Ie-du)



Whyallertheory?



Whyhüller theoryI
genus1 , 1 face of perimeter 1



Whyhüller theory Man(1)
genus1 , 1 face of perimeter 1



Whyhüller theoryI Mante S
genustI face of perimeter 1

- P
--ur ·



Whyhüller theoryI Mante S
genus1 , 1 face of perimeter 1
d 3- Py

--ur ·



Whyhüller theory Man(1)
genustI face of perimeter 1

da Py
--ur ·

x+ y + 3 = 1



Whyhüller theoryI Mante S
genustI face of perimeter 1

dBy P
--ur ·

x+ y + 3 = 1

1

Pla-L
I L



-

mitler theory? Mante(WhyTech 111 S

genustI face of perimeter 1

d⑭
-ur ·-

1 Ix+ y + 3 = 1

P Ila-L
I L



Whyhüller theoryI Mante S
genus1 , 1 face of perimeter 1
d⑭

--ur · Pa
x+ y + 3 = 1

1

y
-

8 IP Ila- 3= 0L
I L



Whyhüller theoryI Mante(111)
genus1 , 1 face of perimeter 1
dBy Pur · ⑤--

x+ y + 3 = 1

P G1

la
- 3= 0 DL

I L



Whyhüller theory Man(1)
- 1genustI face of perinder

x= y = 0
dBy P

--ur ·
x+ y + 3 = 1

1 IP ola- 3= 0 DL
I L



Whyhüller theory Man(1)
- 1genustI face of perinder

x= y = 0
dBy P

--ur ·
x+ y + 3 = 1

1 IP ola- 3= 0 DL
I L



Whyhüller theory Man(1)
- 1 g = 1genustI face of perinder

dBy P
--ur ·

x+ y + 3 = 1

1

la
-

P I- 3= 0 DL
I L



Whyhüller theory Mani S
- 1 g = 1genustI face of perinder

x= y = 0
dBy P

--ur ·
x+ y + 3 = 1

1

y
-

8 I
P ↳la- 3= 0 DL
I L



WhyTechmüller theory? Mante(1)
-

- 1 g = 1genus1 , I face of perinder
x= y = 0

dBy P
--ur

1

· ⑲x+ y + 3 = 1

P s ...la
- 3= 0 DL

I L



Whyallertheory Mamb(1)

· de



Whyallertheory Mamb(1)

·e te



Whyallertheory Mamb(1)

· te⑱



Whyallertheory Mamb(1)
x= y = 0

co fa⑱
3= 0 D



Whyallertheory Mamb(1)
x= y = 0

ci tF
3= 0 D



Whyallertheory Mamb(1)
x= y = 0

co de
3= 0 D



Whyallertheory Man(1)

-⑱
↳



Whyallertheory Man(1)

-
E

⑭

⑱de
-



Whyallertheory Man(1)

⑭
Aub() = 4/ex

⑱de



Whyallertheory Man(1)

⑭
Aub() = 4/ex

⑱de



Whyallertheory Man(1)

Aub() = 4/ex- "⑱

↳



Whyallertheory Man(1)

⑭
Aub() = 4/ex

de Aub(E)*⑱



Whyallertheory Man(1)

⑭
Aub() = 4/ex

de Aub(E)*⑱



Whyallertheory Man(1)

⑭
Aub() = 4/ex

de Aub(E)*⑱

%
2

D



Whyallertheory Man(1)

⑭
Aub() = 4/ex

⑱ Aub(E)*de
: An(a)=%

2



Whyhitler theory?
Mante(1)

Aub() = 4/ex

Aussi
Y2



Whyhitler theory?
Mante(1)

Modular curve M/sL2
, 7)Aub() = 4/ex

Aussi
Y2



Whyhitler theory? moduli space of Riemann enface
genuss with I marked point

Mante(1) M
.11

Modular curve M/sL2
, 7)Aub() = 4/ex

Aute-
Aub(() = *x

Y2



Whyhitler theory? moduli space of Riemann enface-

genuss with I marked point

Mante(1) Tome M
.11

Modular curve et
Aub() = 4/ex SL(2

, 4)

Aub(E)*⑮
Aub(() = *x

Y2



Whyhitler theory? moduli space of Riemann enface-

genus g with R marked points

autrM
,

2) hômen M
.gn gn

Modular curve M/sL2
, 7)Aub() = 4/ex

Aub(E)*⑮
Aub(() = *x

Y2





un l& ·2 -C DeltenE ⑤d > ent

âŞ*
*ğii ⑳œïeS ③>i -H· ILC IFamille

· M
2

⑳⑤⑰é



Thank yen !

o eri !



Thank yeu !
-

o eri !

-"


